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Math 112: #23 A/B/C

A) Use the difference identity cos(a — ) = cos o cos  + sin o sin 3

to re-express f{x) = 3cos x +4sinx
as flx) = Acos(x—a)
That is, find A > 0 and o. for which A cos (x— a) = 3cos X + 4sin X
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() Use the difference 1dentlty cos(o. — ) = cos a cos B + sin o sin B
to re-express f(t) = 6cost—8sint
as f(t) = Acos(t— 1)
That is, find 4 > 0 and ¢, for which A cos (t—ty) = 6cos t — 8sin ¢
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B) Use the difference identity cos(a — ) = cos a cos  + sin a sin
to re-express f(t) = -5cost+ 12sint

as flt) = Acos(t—ty)

That is, find 4 > 0 and ¢, for which A cos (t— 1)) =-5cost+ 12sin ¢




